Year 5 Maths Homework — Mr Lindsay’s Group — 17" September
Answer these problems using column method addition

3528 +2471 =
4552 + 3726 =
6746 + 2465 =
4538 + 6537 =
8427 +7312 =
3857 +8574 =

oOukwNe

7. Write three additions using 5-digit palindromes that equals a palindrome
Example: 13431 + 52325 =65756

8. Write three 7-digit palindromes. You may not use the same digit repeating over and over.
Example: 1432341
Not accepted: 2222222

9. Write 3 additions using 5-digit palindromes that will add to 99999

Example: 13431 + 86568 = 99999



